1375

8(¢c) A uniform rod [ab], of mass m and length 27 | is free to rotate in a vertical plane
about a fixed horizontal axis at a, with a particle of mass 3m attached to the
rod at b. The system is released from rest with the rod vertical and the end b

above a.
(1) Show that the angular velocity of the rod when next it is vertical is
104

(i1) If at this point the mass falls off, find the height to which the end b
subsequently rises.
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Gain in Kinetic Energy = Loss in Potential Energy
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End b will rise a distance 2h = — S
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